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ENGLISH VERSION

Instructions : (1) Write all questions of each section in main

answer sheet.

(2) Draw figures/maps where necessary.

SECTION - 1
1 Multiple Choice Questions : 20
(1) What does CFC pollution source includes -
(A) Refrigerator and Jet Aircraft
B) dJet Aircraft
(C) Fire Extinguishers and Jet Aircraft
(D) All of these
(2) Where 1s the Chipko movement started ?
(A) Assam (B) Rajasthan
(C) Kerala D) Garwal
(3) Which of the pollution is produced by spraying of DDT
on crop ?
A) Air
(B) Air and Soil
(C) Air, Soil and Water
(D) Air and Water
(4) Where was the temperate evergreen forest found ?
(A) Assam (B) Himalayan ranges
(C) Western Ghats (D) Aravalli range
(5) When was the Wildlife Protection Act passed by the
Government of India ?
A 1976 B) 1980
© 1972 O 1970
(6) What is the main cause of air pollution ?

(A) Deforestation (B) Soil erosion
(C) Green house effect (D) Urbanization
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(7) Which of the following change is reduced by
deforestation ?

(A) Rain B) Soil fertility
(C) Soil erosion (D) None

(8) Which one of the following day is celebrated as “World
Conservation Day” ?

(A) 7th December B) 3rd December
(C) 5th December D) 14th December

(9) Where was the first International Conference for
Globalization for Environment problems held at ?

(A) Tokyo (B) Paris
(C) Stockholm (D) London
(10) “Chipko movement” is related with
(A) Noise Pollution
(B) Soil Pollution
(C) Forest Conservation
(D) None of above
(11) Which of the following day is celebrated on 5th June ?
(A) World Environment day
(B) Darwin’s Birthday
(C) World Health day
(D) World Population day
(12) Where does Ganga become most pollute during flows ?
(A) Dev Prayag (B) Kanpur
(C) Varanasi (D) Haridwar
(13) The ecosystem is the basic functional unit of ecology.
(A) False B) True
(C) None of above (D) Wind erosion
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(14) Water Pollution is caused by
(A) Aeroplane
(B) Smoke
(C) Automobile exhaust
(D) 2,4d and chemical fertilizer
(15) The term ecosystem was evoluted by
(A) E.P. Odem (B) A.G. Tansley
(C) R.L. Lindmen (D) F.R. Fesberg
(16) The main reason behind pollution in environment is
@A) CO, B) CO
© COg ® N
(17) Which of the following plants grow in rocks ?
(A) Sicophytes (B) Lithophytes
(C) Oxylophytes (D) Halophytes
(18) Alpine forest occur at altitude of
(A) 1000-1500 m B) 1900-3000 m
(C) 500-1000 m @O 3900-6000 m
(19) In which of the following highest biodiversities is found ?
(A) Equatorial Region (B) Monsoon Region
(C) Polar Region (D) None of above
(20) WWF stands for
(A) Waste Water Fund
(B) World Wildlife Fund
(C) World Wild Fund

(D) Wild World Fund
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SECTION 1II

Explain men environment relationship and give an idea

about ecology and ecosystem.
OR

Discuss the men environment relationship on the basis of

historical perspective.

What is ecology ? Give the classification of ecosystem.
OR

What is pollution ? What are the different sources of

pollution ?

(@) Short note : (any one)

(1) Subject matter of Men and Environmental system

(2) Classification of environment.

(b) Short note : (any one)
(1) Impact of Environment on men

(2) Pollution — Conservation and planning.

Write short answer : (any two)
(1) What is Carbon cycle ?

(2) What i1s Hydrogen cycle ?
(3) What is Nitrogen cycle ?

4) What do you understand by environmental balance ?
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